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1. Find the equation of the straight line which passes through the points (2,-5)

and (-2.7). s / v ’
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2. Find the equation of the straight line which passes through the point (3,-4) P
and is perpendicular to the tine x - 2y = 3. é?j/,{ia""’
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3, Draw the straight line tangent to the following curve at x = 2. what is the

stope of this line? S S 5
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a. What is 1(1)? a P T ?’%ﬁ
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b. What is g(f(0)) when g(x) = x37

5. Graph y = sin 4x for 0 < x < 7. What are the intercepts?
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6. Graph y = cos{x+70) for -TM L X < TC
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